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Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions

in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra time
will be given.
After this verification is over, the Serial No. of the
booklet should be entered in the Answer-sheets and
the Serial No. of Answer Sheet should be entered on
this Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the oval as indicated
below on the correct response against each item.

Bxample : (7D ® ©

where (C) is the correct response.

(i)

5. Your responses to the items are to be indicated in the Answer
Sheet given inside this Booklet, which is common for
Paper I and Paper I1. If you mark at any place other than
in the ovals in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

N

9. You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is NO negative marking.
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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T TS H U (50) - foaRed T U9 €1 T W 6 & (2) 3k €| |l IRl o S|
IS

1.  Team teaching has the potential to develop :

A) Competitive spirit

B

~—

(
( Cooperation

(C) The habit of supplementing the teaching of each other
(D) Highlighting the gaps in each other’s teaching

2. Which of the following is the most important characteristic of Open Book Examination
system ?

(A) Students become serious.
(B) It improves attendance in the classroom.
(C) It reduces examination anxiety amongst students.
(D) It compels students to think.
1. 3 steaed H & E
(A) I o e & o it
(B) wedm - faemd &t
(C) Teh T o STEATIT o Ik o ®9 H 3TCd oh [dh™ &l
(D) U GO LT H U S0l hl W@Igd i i
2. sreifafad Aoy fadrarst § § et forare qdan wefa w6t fadmar = 72
A) BETERE E
B) 9% Rl el H Iufefd =g St ¥
C) o8 B i qden Traeft fomd sl w9 w2
D) ¥ BEl &I foma & fod o st 2

~—"

(
(
(
(
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3.  Which of the following methods of teaching encourages the use of maximum senses ?

(A) Problem-solving method (B) Laboratory method
(C) Self-study method (D) Team teaching method
4.  Which of the following statement is correct ?

(A) Communicator should have fine senses
B) Communicator should have tolerance power
Communicator should be soft spoken

Communicator should have good personality

5.  An effective teacher is one who can :
(A) control the class

(B) give more information in less time

(C) motivate students to learn

(

)

D) correct the assignments carefully

6.  One of the following is not a quality of researcher :
(A) Unison with that of which he is in search

B) He must be of alert mind

Keenness in enquiry

D) His assertion to outstrip the evidence
7. A satisfactory statistical quantitative method should not possess one of the following
qualities :
(A) Appropriateness (B) Measurability
(C) Comparability (D) Flexibility
8.  Books and records are the primary sources of data in :

(A) historical research

(B) participatory research
(C) clinical research
(D) laboratory research
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10.

Which of the following statement is correct ?

(A) objectives should be pin-pointed

B) objectives can be written in statement or question form
another word for problem is variable

all the above

The important pre-requisites of a researcher in sciences, social sciences and humanities
are :

>

) laboratory skills, records, supervisor, topic

C) archives, supervisor, topic, flexibility in thinking

)

(

(B) Supervisor, topic, critical analysis, patience

(©

(D) topic, supervisor, good temperament, pre-conceived notions

Read the following passage and answer the questions 11 to 15 :

Knowledge creation in many cases requires creativity and idea generation. This is
especially important in generating alternative decision support solutions. Some people
believe that an individual’s creative ability stems primarily from personality traits such
as inventiveness, independence, individuality, enthusiasm, and flexibility. However,
several studies have found that creativity is not so much a function of individual traits
as was once believed, and that individual creativity can be learned and improved. This
understanding has led innovative companies to recognise that the key to fostering
creativity may be the development of an idea-nurturing work environment. Idea-
generation methods and techniques, to be used by individuals or in groups, are
consequently being developed. Manual methods for supporting idea generation, such
as brainstorming in a group, can be very successful in certain situations. However, in
other situations, such an approach is either not economically feasible or not possible.
For example, manual methods in group creativity sessions will not work or will not be
effective when : (1) there is no time to conduct a proper idea-generation session;
(2) there is a poor facilitator (or no facilitator at all); (3) it is too expensive to
conduct an idea-generation session; (4) the subject matter is too sensitive for a
face-to-face session; or (5) there are not enough participants, the mix of participants
is not optimal, or there is no climate for idea generation. In such cases, computerised

idea-generation methods have been tried, with frequent success.

WXYZ—-00 6

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click




10.

sreifafad § SiF a9 Tel €2
(A) R H T B A1

(B) ¥ 99 ®Y H A1 U &Y H for@ = Tehd §
(C) wen % ford guu wiss =R 8

(D) 3w Wt

)
D)
o, TS formmt qen AHfaent & e S qaries §
A)  TANTIET i FHererd], STfiera, wHoeh, faw

B) wddee, fawa, sTeiramTeTs fowero, &

C) Yawm, wdereh, fawg qeon faw o eeiemad

(
(
(
(D) fawa, woerh, 3151 THE, Tenidd STaERom

)
D)

SreNifefEd STTse ohi UG 3T U9 HWE&AT 11 | 15 T 30 Q ¢

3T ISR § FH T Goid ATl ql foamii st SEaAT ot 3198t wadl &1 Sehfedeh
fvi-gmeds qaeEl St IgE § I8 faviy Ued Wadr €1 $9 @l %1 98 |d ® T,
Al i TEHTHS &HdT Sl Swd Safekish uil— F1 SMfa=hi Ygfa, =, Safarehd],
ITE 3R AT § BT 1 U 3Tk 31AFHI | I8 Ul 9ol § {9, TeeHdhar, 9 Teet
fFafasIs & T 1 He THT AT 91, T8 0N BT a1 IR0 T 7 IR St TETeHehdr
el ST TR & 3R 3Her GUR +ff B Tkl ©1 39 foeR 7 sfiforenid sweafl &l I8 e
1 ¥ T foamgeter sed-ardrerer 1 o THArEshar & dadq ®t ot 71 i
ol STera TRl % 5N YA faferdi qen qeienl 1 faenra fohen < @1 €1 foam-gom &
gued % T aeta faftai— gen foaml o1 sTeM-wer $o ufiftufaei # o awa &
Hehell §; T o1 uRfefadi § =y 7 o7 gfic § area ¥ iR aeva €1 3w & fod
Aet faftrar anfes TR % & | & i R Wkt a1 gelt T&l en, S (1) 3fea
=R oI W ol HAlfad i o A I T9E o (2) Fraem <7 aren 1 2 (A1 giaen <
e & ot 7 ), (3) FTER-gS 1 9 He ST I B (4) THHA-FEA 6 6 h
o fawar-arg STid Hagasite 2, e (5) v Ufawrd = 2, wfaaie o1 dfigon sead 1
B A1 foaR-go o1 ararerer 7 81| U aRftfa #, wree % gR foen-ge i fafie @@
AR TR o B, sHH v woher o fhed 7

WXYZ—-00 7 P.T.O.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




Idea-generation software is designed to help stimulate a single user or a group to produce
new ideas, options and choices. The user does all the work, but the software encourages
and pushes, something like a personal trainer. Although idea-generation software is
still relatively new, there are several packages on the market. Various approaches are
used by idea-generating software to increase the flow of ideas to the user. Idea Fisher,
for example, has an associate lexicon of the English language that cross-references
words and phrases. These associative links, based on analogies and metaphors, make
it easy for the user to be fed words related to a given theme. Some software packages
use questions to prompt the user towards new, unexplored patterns of thought. This
helps users to break out of cyclical thinking patterns, conquer mental blocks, or deal

with bouts of procrastination.

11. The author, in this passage has focussed on
(A) knowledge creation (B) idea-generation
(C) creativity (D) individual traits
12. Fostering creativity needs an environment of
(A) decision support systems (B) idea-nurturing
(C) decision support solutions (D) alternative individual factors
13. Manual methods for the support of idea-generation, in certain occasions,
(A) are alternatively effective (B) can be less expensive
(C) do not need a facilitator (D) require a mix of optimal participants
14. Idea-generation software works as if it is a :
(A) stimulant (B) knowledge package
(C) wuser-friendly trainer (D) climate creator
WXYZ —-00 8
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15. Mental blocks, bouts of procrastination and cyclical thinking patterns can be won
when :
(A) innovative companies employ electronic thinking methods
(B) idea-generation software prompts questions
(C©) manual methods are removed
(

)
D) individuals acquire a neutral attitude towards the software
16. Level C of the effectiveness of communication is defined as :

(A) channel noise (B) semantic noise

(C) psychological noise (D) source noise

17. Recording a television programme on a VCR is an example of :
(A) time-shifting (B) content reference

(C) mechanical clarity (D) media synchronisation

18. A good communicator is the one who offers to his audience :
(A) plentiful of information (B) a good amount of statistics

(C) concise proof (D) repetition of facts

19. The largest number of newspapers in India is published from the state of :
(A) Kerala (B) Maharashtra
(C) West Bengal (D) Uttar Pradesh

20. Insert the missing number :
8 24 12 ? 18 54
(A) 26 (B) 24 (C) 36 (D) 32

21. January 1, 1995 was Sunday. What day of the week lies on January 1, 1996 ?
(A) Sunday (B) Monday
(©) Saturday (D) None of these

22. The sum of a positive number and its reciprocal is twice the difference of the number
and its reciprocal. The number is :

-

1
(A) V2 B 75 © 3 (D)
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23. In a certain code, ROUNDS is written as RONUDS. How will PLEASE will be written
in the same code :

(A) LPAESE () PLAESE (C) LPAEES (D) PLASEE

24. At what time between 5.30 and 6.00 will the hands of an clock be at right angles ?

5 7
(A) 43— min. past 5 (B) 43— min. past 5
11 11
(C) 40 min. past 5 (D) 45 min past 5
25. Statements : I All students are ambitious

I All ambitious persons are hard working
Conclusions : (i)  All students are hard-working

(ii)  All hardly working people are not ambitious
Which of the following is correct ?
(A) Only (i) is correct (B) Only (ii) is correct

(C) Both (i) and (ii) are correct (D) Neither (i) nor (ii) is correct

26. Statement : Most students are intelligent
Conclusions : (i) Some students are intelligent
(ii) All students are not intelligent

Which of the following is implied ?

(A) Only (i) is implied (B) Only (ii) is implied

(C) Both (i) and (ii) are implied (D) Neither (i) nor (ii) is implied
27. Statement : Most labourers are poor

Conclusions : (i) Some labourers are poor

(ii) All labourers are not poor

Which of the following is implied ?

(A) Only (i) is implied (B) Only (ii) is implied
(C) Both (i) and (ii) are implied (D) Neither (i) nor (ii) is implied
WXYZ —-00 12
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23. T&‘=ie’ # ROUNDS % RONUDS @ a1 g1 39 ‘shie’ § PLEASE &% foran s ?
(A) LPAESE (B) PLAESE (C) LPAEES (D) PLASEE
24. 530 AU 6.00 o= fohE THA Teh TSI ol g THBI TARA ?
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Q) (i) 3R (ii) ST s1fda 1 (D) ¥ (i) 5@ § SR (ii) AT B
27. ®UT:  ATH giHw T ¥
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(if) Tt ek T 7=
steiiferfed ® s s1fda € 2
(A) Fad (i) AR 7 (B) I (ii) AT T
Q) (i) 3R (i) I 3fda F) (D) 7 (i) ST9a g 3R T (ii) 1F9a B
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28. Line access and avoidance of collision are the main functions of :
(A) the CPU (B) the monitor
(C) network protocols (D) wide area networks
29. In the hypermedia database, information bits are stored in the form of :
(A) signals (B) cubes
(C) nodes (D) symbols
30. Communications bandwidth that has the highest capacity and is used by microwave,
cable and fibre optics lines is known as :
(A) hyper-link (B) broadband
(C) bus width (D) carrier wave
31. Anelectronic bill board that has a short text or graphical advertising message is referred
toas:
(A) Dbulletin (B) strap
(C) bridge line (D) Dbanner
32.  Which of the following is not the characteristic of a computer ?
(A) computer is an electrical machine
(B) computer cannot think at its own
(C) computer processes information error free
(D) computer can hold data for any length of time
33. Bitumen is obtained from :
(A) Forests and Plants (B) Kerosene oil
(C) Crude oil (D) wunderground mines
34. Malaria is caused by :
(A) Dbacterial infection (B) viral infection
(C) parasitic infection (D) fungal infection
WXYZ—-00 14
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(C) ‘fors-emed’ F@ TR (D) ‘O FE TN

32. TeifafEd o i I Sl AT Tl 2
A) HEER gelfagsh Wi’ €

B) PR @E TEl |k TRl ¢ |

C) HIR Ffeqad Yo TIR HT T |

(
(
(
(D) HEAR T oft ST Tk 2Aihel ! GRIEw Tl 2|

33. ‘forgha’ wmw o s €

(A) SiTEl qen o | B) T FIAR
(C) 3Tenfud ot 9 (D) HfHd @l 9
34. TARAAME :
(A) dfFgaa @Ham | (B) AT HHAU I
(C) tfafes HHaw & (D) TE HHTT |
WXYZ —00 15 P.T.O.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




35. The cloudy nights are warmer compared to clear nights (without clouds) during winter
days. This is because :
(A) clouds radiate heat towards the earth
(B) clouds prevent cold wave from the sky, descend on earth
(C) clouds prevent escaping of the heat radiation from the earth
(D) clouds being at great heights from earth absorb heat from the sun and send
towards the earth
36. Largest soil group of India is :
(A) Red soil (B) Black soil
(C) Sandy soil (D) Mountain soil
37. Main pollutant of the Indian coastal water is :
(A) oilspill (B) municipal sewage
(C) industrial effluents (D) aerosols
38. Human ear is most sensitive to noise in the following frequency ranges :
(A) 1-2 KHz (B) 100-500 Hz
(C©) 10-12 KHz (D) 13-16 KHz
39. Which species of chromium is toxic in water :
(A) Cr+2 (B) Cr+3
(C) Cr+eo (D) Cr is non-toxic element
40. Match List - I (Dams) with List - II (River) in the following :
List - I (Dams) List - II (River)
a. Bhakra (i) Krishna
b.  Nagarjunasagar (i) Damodar
c.  Panchet (iii) Sutlej
d.  Hirakud (iv) Bhagirathi
Tehri (v) Mahanadi
b c e
(A) v i iv i i
(B) i i ii \% iv
© i i iv di v
(D) i i iv i v
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35. S % Tl | el areft T for sreett reft Tt shi gorn | TRA Bt ¥ | SHR BROT T
(A) IEE gealt i IR T 1 fafervor ¥
(B) TG STRTRT H TMered sl gea T 3a § Jahd © |
(C) area gealt § Tt & faferwor s I T
(

)
D) st § 9gd a6 WM % HRV SIGe A § TRHT TEU F A § 3R IH gealt i AR 9
SR

36. YR % G g gt i ©

(A) o gt (B) whrait fagt
(C) et gt (D) et gt
37. T AL T8 STt o IS T W R §
(A) T H e S (B) “WRUIfcTehl GIU el foresiq
(C) sirEnfie afs: & (D) agfae™
38. erelifafad g SR | AHd M Tcafish Hoeasiel &l © ¢
(A) 1-2 KHz (B) 100-500 Hz
(C) 10-12 KHz (D) 13-16 KHz

39. HIfHIY T A gea =t H fael & S 2 2
(A) Cr+2 (B) Cr+3
(C) Cr+6 (D) Hifem faume 7 & T

40. ereifafEa o F-1 (SiY) & gEi-11 () & e o TR 92 ST &1 =97 a1l

geR-1 (i) TeA-11 ()
(a) MRl (i) P
(b) TS |FR (i) <M
(c) d=d (i) HdeS
(d) TFTS (iv) wmfeedt
() (v) —HErd
a b C d e
(A) v i iv i i
(B) i i ii \% iv
(© i i v i v
(D) ii i iv i \%
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41. A negative reaction to a mediated communication is described as :
(A) flak (B) fragmented feedback

(C) passive response (D) non-conformity

42. The launch of satellite channel by IGNOU on 26th January 2003 for technological
education for the growth and development of distance education is :

(A) Eklavya channel (B) Gyandarshan channel

(C) Rajrishi channel (D) None of these

43. Match List - I with List-II and select the correct answer from the code given below :
List - I (Institutions) List - II (Locations)

(@) The Indian Council of Historical (i) Shimla
Reasearch (ICHR)

(b) The Indian Institute of Advanced (i) New Delhi
Studies (IIAS)

(¢) The Indian Council of Philosophical  (iii) Banglore
Research (ICPR)

(d) The Central Institute of Coastal (iv) Lucknow
Engineering for fisheries

a b C d

(A) i i iv i
B) i i i v
(© i iv i i
(D) iv i i i

44. Which of the following is not a Fundamental Right ?

(A) Right to equality

(B) Right against exploitation

(C) Right to freedom of speech and expression

(D) Right of free compulsory education of all children upto the age of 14
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41. HIEAEY HEN % i TeRreHeh qiatha ©
(A) ®RiH (B) famfread wfagem
(C) Tafsha st (D)  STI&Ydl

42. Y e 1 i wd foewm & fo@ ‘g’ A 26 Sl 2003 1 dehteht fran & ford 5
‘FreTTEe e’ BT ST e §, ST Am ©

(A) THAA = (B) WEEH =
(C) TS~ e (D) SW® g Tl

43. -1 1 GA-11 § fHed g9 92 ST A =91 it |

Tei-1 (Hed ) Teit-11 ()

(a) < sfrem Hifga e fewiea () Teren
@4 (ICHR)

(b) < ST ST ATk Teards (i) =8 fe=
TEN (IIAS)

() < ST wifaa i fRarafhea (iii) TR
&= (ICPR)

(d) G IHISE H Hid ST (iv) deTS
TR TR
a b C d

(A) i i iv i

B) i i i v

(Q i v i i

(D) iv @i i i

44. fr=Aifra o ¥ & @1 difern afmRr T © 2
(A) HHMCT T TR
(B) MY § W& A SATUHR
(C) foart =t sifyeate @1 sifesR
(D) 14 Y ek o o=l o forq . 3[eek e1framdd fan w1 e1fereRr
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45. The Lok - Sabha can be dissolved before the expiry of its normal five year term by :
(A) The Prime Minister
(B) The Speaker of Lok Sabha
(C) The President on the recommendation of the Prime Minister
(D) None of the above
Q.No.: 46 to 50 NOT FOR VISUALLY HANDICAPPED CANDIDATES
Study the following graph carefully and answer Q.No. 46 to 50 given below it :
EXPORT OF TINS
Quantity in lakh tins
[ Value in crores of rupees
400
200
)
150 é
' 07,
Years 1995 1996 1997 1998 1999
46. In which year the value per tin was minimum ?
(A) 1995 (B) 1996 (©) 1998 (D) 1999
47. What was the difference between the tins exported in 1997 and 1998 ?
(A) 10 (B) 1000 (C) 100000 (D) 1000000
48. What was the approximate percentage increase in export value from 1995 to 1999 ?
(A) 350 (B) 330.3 (C) 4333 (D) None of these
49. What was the percentage drop in export quantity from 1995 to 1996 ?
(A) 75 (B) 50 (C) 25 (D) None of these
50. If in 1998, the tins were exported at the same rate per tin as that in 1997, what would
be the value (in crores of rupees) of export in 1998 ?
(A) 400 (B) 375 (C) 352 (D) 330
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45. WG UTE | i G % Ye i 9 1 FreEfated # @ fege gr fasfed fear s

el T ?

(A) 99H =t

(B) TAREHT I e

(C) &M |3l ! wegfa 9§ wgafd

(D) 39w H HE T

W9 46 W 50 Y faremerin arenfela o forg =& &1

=1 ST T I 1 WEE geE ST o iR Frefafad weel (HHiw 46-50 TF) ok ST |

feq =t Treia
e aef feq 500
Wl 7= FIS TR
150
ad T1995 1996 1997 1998 1999

46. ®F 9§ ¥ ¥ gfq foT g =gAaw o1 2

(A) 1995 (B) 1996 (C) 1998 (D) 1999
47. 1997 TS 1998 H feii o i # o oT=R o1 ?

(A) 10 (B) 1000 (C) 100000 (D) 1000000
48. 1995 ¥ 1999 H fHafa qea H e oot ufaera gfs 88 2

(A) 350 (B) 330.3 (C) 433.3 (D) T 9 ®E &I
49. 1995 ¥ 1996 % Hed frafaes wmn § ferdt gfaqerd et g8 2

(A) 75 (B) 50 (C) 25 (D) 3TH | &S T
50. 3fg 1998 ¥ fifaa wfafed =1 gear 1997 # fifaa fo7 & s o @1 1998 # fraia g

(FIST TIA H) 1B 2

(A) 400 (B) 375 (C) 352 (D) 330
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Q.No. 46 to 50 : For Visually Handicapped Students Only

46. Which department is not included in the Ministry of Finance :
(A) Department of Investment
(B) Department of Expenditure
(C) Department of Revenue

(D) Department of Economic Affairs

47. Holistic view of the relationship between people and environment is presented in the
formula Place <> Work <» Folk. Who formulated this concept ?

(A) H.Mackinder (B) Donald Bogue

(C) Walter Isard (D) Le play

48. Jhuming is a practice of cultivation of land in :
(A) Rajasthan (B) Gujarat

(C) Haryana (D) North-Eastern India

49. India’s energy needs are largely met by :
(A) Hydro Carbons
(B) Nuclear Energy
(C) Coal based thermal plants

(D) Wind energy

50. Black cotton soils in India are found in :

(A) Bundelkhand region (B) Kashmir Himalaya
(C) Deccan Trap Country (D) Thar Desert
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U9 9. 46 ¥ 50 e : shaet gy faeren faenfei=n & fem)
46. ford T % ST=RTa i faum 71 € 2

(A) Trae faum

(B) = favm

(C) TS fa4m

(D) sTifeiek ArHa sl faum

47. A Td YATRUN % ey ok GHIAC SRV Sl WM > i <> S ik & IR g0
= fore ST ® 1 3 eTaEmon o freq fRen fawe 2

(A) TE. Hfh=R (B) SHIEE M
(C) e 35Te (D) dw

48. ‘gHT' TE Bt FH H WA R
(A) TEEH (B) ToWIa |
(C) =fEmnd (D) IR-Yat 9a H

49. A Y ol Helet STrovaehal bt sifusmiw ufd 9 2 2 R
(A) S BT
(B)  Arfuereh wrferd
(C) hIFET TR IHe @eq
(D) = 3

50. YRA a9 | et fHgt qrE S €

(A) F<AGES Y9I § (B) yHR fewme™ &
(C) SHT T ¥ & (D) 9R 7&EIA §
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